1.

(5x — 2y)(-3y) & Zto] otH?

D -15xy - 6y? @ -15xy - 5y? @—15xy + 6y?

@ 15xy + 5y? ® 15xy + 6y?

(5x — 2y)(=3y) = 5x x (=3y) +

= —15xy + 6y?

(=2y) x (=3y)




(2x + ) (3x + 2y) o] JINAANA, xy o] A=

® 2 @ 5 Ok @ 9 ® 11
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(2x +y)(3x + 2y)

= 6x% + 4xy + 3xy + 2y?
= 6x% + Txy + 2y?
Lxy S AT




Bx+b)?=ax®+6x+1 LW, F5Fa b2 Fa+b 327

@0 @1 ou @1 613

(3x+b)?2=9x2+6bx+b*> =ax? +6x+1
a=9, b=1
La+b=9+1=10




@ (a-0b)?=a®-2ab + b?
(a+b)? = a® + 2ab + b?
(a-b)? =a®-2ab + b?
(=b—a)? = a® + 2ab + b*

® (a+b)? = a* + 2ab + b?

(=b - a)? = b? + 2ab + a*
@ —(a+b)? =—(a®+ 2ab + b?)
= —a® - 2ab - b*
(-a+ b)? = a* — 2ab + b?

® (b-a)? =b*-2ab+ad?
(-a+ b)? = a* — 2ab + b*




© (-a-b)* ={-(a+b)}* = (a+b)

@ (~a+b)?={-(a-b)}* &, (a-b)? = a® - 2ab + b>
®(-a+2)(-a-2)=(-a)?-22=a*-4

@ (2a-b)? = (2a)> -2 x2ax b+ b? = 4a® - 4ab + b?
® (a+b)?-(a-b)? = 4ab
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201 x 199 = (200 + 1)(200 — 1)
= 2002 — 12
— 39999

"~ (a+b)(a-b) =ad®-b*E o] 83Tt
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D x2+4y? @ x?+2xy+y?
3)2x% + 2y? @ 2x% + xy + 2y?

® 2x? + 2xy + 2y?

(% + 2xy + y?) + (5 = 2xy + y?) = 2x% 4 2y?




8. (x-3)(x*+9)(x+3)= A7NstH?

® x*-9 @ x*>-81 @ x*-3
@ x*-9 @x4—81

(x=3)(x+3)(x*4+9) = (x* =9)(x* +9) = x* - 81




@ 254> + 9b?
® 35a® — 3ab + 16b>
@35612 — 29ab + 6b>

@ 25a% — 10ab + 4b?

@ 35a® - 21ab + 6b>

B

(A 9] Hol)
= (7I2) x (A=)
= (7Ta - 3b)(5a — 2b)
= 3542 — 29ab + 6b>




10, (x-49)(x-2)(x+1)(x+3)-25 =Ax* + Bx* + Cx*> + Dx + E¥
™, A+ B+ C+D+ E?2| gk& FoHH?

@ -2 (@)—1 ® 0 @ 1 ® 2

S5 ~
(x-4)(x-2)(x+1)(x+3)-25
={(x—4)(x+)H(x-2)(x+ 1)} -25
=2 -x-12)(x*-x-2)-25
x?—x =12 A &sto] F2stA (1-12)(r-2)-25 = 2 - 14¢-1
X2 —x=1t= YU H x* — 243 + x2 — 14x2 + 1dx—1 = x* -
2x3 —13x% + 14x -1
2t A+B+C+D+E=1-2-13+14-1= —10°]|t}.
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@D (x+5)(x=5)=x>-25
@ (-4+x)(-4-x)

16 — x2

@)(-a+3)(-a-3) = —a®+9

—x2 + 4y?

@ (—x-2y)(x~-2y)
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) (-

‘ ® (~a+3)(~a—-3)

a?-9




12. a-b=-2,ab=4 L2 W, a®> +b* 9 F2?

O 8 @12 ® -4 @ -7 ® -15

a>+b*=(a-b)?+2ab=(-2)>+2x4=12




